First Names Tape Ice Cream
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1. The employee with the $167,000 salary is Meghan.
2. Meghan earns more than Alexandra.

3. Either the employee with the $167,000 salary or the employee with the $75,000 salary bought scotch tape.
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. The employee with the $75,000 salary doesn't like strawberry ice cream.
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. The employee with the $165,000 salary didn't buy electrical tape.
6. The person who bought scotch tape is not Meredith.
7. The person who enjoys strawberry ice cream is not Alexandra.

8. Of Alexandra and the person who bought paper tape, one loves chocolate ice cream and the other loves strawberry
ice cream.

9. The person who bought painters tape is hot Meghan.

10. The person who bought electrical tape is Alexandra.

11. The employee with the $67,000 salary didn't buy electrical tape or paper tape.
12. The person who enjoys rocky road ice cream earns more than Meredith.

13. Mya doesn't like rocky road ice cream and didn't buy paper tape.



